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Test Venue
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Test Date 23/09/2019

Subject Junior Engineer 2018 Civil

Section : General Intelligence and Reasoning

Ans

Q.1 & &y e g & eent srgaron |, 11 3R 11 wifera i frsemd et &1 ag wiria gg for g g
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Question ID : 2390877870
Status : Answered
Chosen Option: 2

Q.2

Ans

&} 1T et § ST TUTH TR 31T aTet U T I8 &l

SYSTEM, YSTEM, YSTE, STE, ?

o 1.sT
75 2.SE
/X 3.TE
5 4TS

Question ID : 2390877851
Status : Answered
Chosen Option: 1

Q.3

Ans

I9 &A1 &1 994 &R, St FAfafEd Sioft d usemraes g (?) & = = 81 ehdl @11

88, 81, 75,7, 66
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Question ID : 2390877877
Status : Answered
Chosen Option : 3

Q.4 39 frea o1 T4 TR, AT IR S1aR-99g &A1Y a8 €6y §, St gER 31&R-UHg &I uget
SER-TYg & A1 1

BD:DP::EC:?
Ans X" 1 vy

K 2.xJ

K 3x

o 4V

Question ID : 2390877864
Status : Answered
Chosen Option : 4

Q.5 39 gl ferey o1 g &R, w1t Amfaf@e 1l & adema s srefyef sva A sxafeda wu Ht
Zarfar gl

1. Frgfes

2. 9I8TehR

3. gafs
4, TYTIEROT
5. o949

Ans X" 131,524

/X 3.5231,4
/< 4.1,2,3,54

Question ID : 2390877852
Status : Answered
Chosen Option : 3

Q.6 3@ g THteRror ot & = & g foe &) Heeat ot sruw | e wnfgg?
4x(16+2) - (72+3)x18+12-14=22
Ans X" 1 12372
/X 2.183R 16
of 372418
X 412314

Question ID : 2390877886
Status : Answered
Chosen Option : 3

Q.7 39 GH=Id & TG &, [T &t 1€ deneii & fiw agt d@e&y g, st R e agea Y S=mei &
Hfra

4,16, 64

Ans
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75 1.3,9,30
/X 2.5,25,150
75 3.2,520
W 4.6,36,216

Question ID : 2390877883
Status : Answered
Chosen Option : 4
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Question ID : 2390877892
Status : Answered
Chosen Option : 1

Q.9 39 faseu o1 99 &R, ST qdta ug & a1y o) ey g, il Ffa ug v e § 81
TRAR: U = dts: ?
Ans X 1. zRa
/X 2. e
of 3. 5
K 4w

Question ID : 2390877857
Status : Answered
Chosen Option : 3

Q.10 75 Bt il Ueh hefl &, Ueliah o1 9 shrfehdl- Wifid, ATed 3R wfdar § 9 &9 9 &9 g
HRIRA H WFT AT 81 12 B i1 hrferal & urT Ad &1 21 o1, Rl &) ardferml & s aa &)
i 14 B had Gifia & UNT Ad & 3R 15 B chad 1eeh & U o4 &, at fohdas 8= dhaa
wfdar & ymr Aa &2

Ans X' 115
5212
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Question ID : 2390877888
Status : Not Answered
Chosen Option : --

Q.11 Qe fAfZ) ewmr &, CORDIAL @t FLUGFXO & %u # forar sirer 81 I6ft remat & LANTERN
=l foha =u A forar smam?

Ans X" 1.0YQWBUR
75 2. oxPwcuQ
/5 3.0XPVCTR

o 4 oxawsuQ

Question ID : 2390877866
Status : Answered
Chosen Option : 4

Q.12 39 feheq =1 Ta= o, fAeert Ao T & a1y ag) dey g, Sit g e @1 ugedt e &
QA gl

7:133::8:?

Ans " 1.151
o 2152

/X 3.153

/X 4.150

Question ID : 2390877881
Status : Answered
Chosen Option : 2

Q.13 39 faehed o1 9a+1 o, foiwert iR sieR-ayg & 91y a8t Had &, Sl gER S18R-HHg &1 uget
S1ER-TE & AT &1

CATEGORY : ETACYROG : : FOOTBALL : ?
Ans o 1 TOOFLLAB
/5 2. TOOFLALB
75 3.00FALLAB

/5 4. OFTOABLL

Question ID : 2390877862
Status : Answered
Chosen Option : 1

Q.14 39 faerea 1 aa+1 o, fSwert gdia ug & a1y o 99y g, it fFda e s aum o € 21
AFe R e ?

Ans J‘].q‘%‘q

/X 2. g ()

X 3.9

X 4. anh
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Question ID : 2390877858
Status : Answered
Chosen Option: 1

Q.15 39 T=T &l 99+ R, Sit Aafaf@e soft & usraraes g (?) & Tu= wR o gadt gl
32, 48,72,108,7,243
Ans X" 1159
X 2,161
o 3162
X 4.157

Question ID : 2390877879
Status : Answered
Chosen Option: 3

Q.16 Qe AT ewmar &, ROUGH &Y 91262019 & w4 & forr sirar &1 It gewrar & DECIDE &t
forg =u A forar sTem?

Ans X" 1232225182422
/X 2.232224172322
o 3232224182322

/X 4.222123182221

Question ID : 2390877868
Status : Answered
Chosen Option : 3

Q.17 31 31eRi ol T &3, Sit FfafEa stoft 7 usrarwe fRig (?) & U™ W= 31 Jehd g1
E,V,H,S,27?
Ans " 1.0,Q
K 2.0P
X 3.KQ
o 4kP

Question ID : 2390877847
Status : Answered
Chosen Option : 4

Q.18 I AeE-GiH T TG Y, forad g g g ereel & fiwr adh Teiw &, Sit Ry g 2reg-gmw & g
o1l & f gl

wETE: A
Ans XIZ{TGZWFﬁ
/X 2. ugre : ghareht
o 3. wEmrR o
/X 4. HRrEER : vetia

Question ID : 2390877861
Status : Answered
Chosen Option : 3
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Q.19 39 farehed &1 aa+1 o, fSwen iR siar-ayg & 9Ty It Had @, Sl gER S18R-HHE &1 ugat
SER-TE & AT 81

COQY : BTRF: : KSUT : ?
Ans o 1 WXVUN

75 2. VXYN
75 3. WXUN

X 4.VXVM

Question ID : 2390877863
Status : Not Answered
Chosen Option : --

Q.20 &9 BF v amw #, ', s & e wtr & e st B w i
Hir s et o BElE s B arm & & 7w 3w Ry Ao & =fEeat r wemm w
garar E
foreetr wsferal ofniwyr ¥ fohg nfaree =@ &2

/3\
DO
e

Ans X1, 28
<216
Vs 14
K419

Question ID : 2390877896
Status : Answered
Chosen Option : 3

Q.21 wF & ory Fr 27 - it i & 72 §) 3§ gE 5 99 1, S 5T 6 I teE 5
Foie w97 2

P

Ans "1 2
X 2
v
X 4

I

La Lh g

Question ID : 2390877889
Status : Answered
Chosen Option : 3

Q.22 & 77E siEe # TSt T R I It UG J1ER-THE i 997 Hi

BXM, CYN, EAP, HDS, ?
Ans X" 1 KHW
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75 2. LHV
W 3. LHW
/< 46w

Question ID : 2390877850
Status : Answered
Chosen Option : 3

Q.23 =g fa=t A, B, C, D, E 3R F & @R ucdeh diF-di= u: i ot dftral & e &)1 =i aferal J wiee
WRUF-FTRFAFAEID R R CF R & RAepvfa: arA I AT R, FIRCFRFAHad 1B
T BR Ueh BR WR g1 fRA g faereal 7 @ fFaerr eR A & oR & 9 &2

Ans X" 1B
X 2.c
W 30D
K aF

Question ID : 2390877875
Status : Not Answered
Chosen Option : --

Q.24 FA & OF gES F A # FH AR 97 3, owd g2 qe FEe A Fwen S
Hpfeat # fagmar amar §) we S WO e e g Rag &

LM
B
-
-
B

Question ID : 2390877894
Status : Answered
Chosen Option: 1

Q25 3w 37 3@ F T4 F, A 0 F GF 0 WHE F 7wt F wSfcdA o F Fwhm Fa=r

¥F, S, B
Ans
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Question ID : 2390877895
Status : Answered
Chosen Option : 3

Q.26 I &R & TG &N, it FAm=faf@a Soft F usamaes Rig (?) & Tu= wR o Gwar gl
A HN,S,?
Ans "1y
K2V
o 3w
< 4.x

Question ID : 2390877848
Status : Answered
Chosen Option : 3

Q.27 fAafaf@d gl ot 39 UFR Q g 1, 9 I S gl & shrag udla gia &1

1. Develop
2. Devote
3. Derogate
4. Devotee
5. Deviate

Ans X" 1.3,4,51,2
75 2.3,4,52,1
X 3.4,31,25
o 431,524
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Question ID : 2390877854
Status : Answered
Chosen Option : 4

Q28 =z famew #1 w0w X, B & 7§ gl X EfRa/d digw # agnfa 7 §)

Figure X
Ans
v .".“. {:%
Ol
X 2 }:

Z(,
A [T

Question ID : 2390877891
Status : Answered
Chosen Option: 3

Q.29 ek AT gewmar &, MIXER &Y NKAIW & %4 & forar sirar 81 3¢t ggewmar & PARTY @it forer
= # forar smemm?

Ans  of 1 QcUXD
75 2.QDUXD
/5 3.QCVXE
#< 4.QCUXE

Question ID : 2390877865
Status : Answered
Chosen Option : 1
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Q.30 & 7T S{EeT § 31Tl TUH WR 311 aTet 3HeR-THE T T He |

ZTMO, WWJR, TZGU, ?
Ans X" 1 PDCX

/5 2.PCDY
75 3.qcey
o 4. qcox

Question ID : 2390877849
Status : Answered
Chosen Option : 4

Q.31 I 2Ae&-FoH 1 T 63, Ao Ry g €141 2rea & oftr agt et &, it Ry g 2reg-grm & it
ereet & AT g1

et &1 afass
Ans X 1 ReRord : S 1 Ed
XZ.W?H:GMW
of 3. s et

#< 4. e - s

Question ID : 2390877860
Status : Answered
Chosen Option : 3

Q.32 gt ey fed mq § fSirent argaun |, 11 3 11l wifera = fremd @ved &1 g @ g 6 Ry g
HYl A & 7S SRR I @; v & g8 9E=ad: 7d 924t @ (9= udia gidt @, ag Aofa &
3R g1 ok o= /8 FRreendl, et o1 arfdhes w9 & SrgERoT FHear/d 8/81

HY:
1. 1 goy ey -Rifeheme T8 81
2. 9oft R aea-fRfercaes &1

fAreen:

I. o eg-Rifhas REarR &1
Il. T RFeR gou T8 g1

lll. o RFeR go &1

Ans X" 1 frseme 1| ofR 11l @41 €Y SrgERoT R &
75 2. R | 3R 111 2T & srgaRor aa &1
o 3. Fre | iR 1| ST Y srgeRor awa B
25 4. T Frsemd 11 a1 11| SrERoT ahaT

Question ID : 2390877869
Status : Answered
Chosen Option: 3

Q.33 2@ 7y Gfienvor At TE &1 A g heA & g s1erRi A, B, C 3R D & = R RAIgT &1 @i a1 s

3Ta?

97A18B4C133D19=32
Ans X1 4 - %+

Xz_x,+,—,+

x3.x,+,+,—
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Question ID : 2390877885
Status : Answered
Chosen Option : 4

Q.34 I THET-GiH T T H3, FTd & 7€ AT Tt & i ad deiy g, sit Ry 1g demn-gm Hir
S demmatt & f=r @1

7:329
Ans X" 1.5:80
o 2.6:204
/X 3.9:481
X 4.8:212

Question ID : 2390877880
Status : Answered
Chosen Option : 2

Q.35 A2 ITR Y 3R g ek @l 1 a8 arATad fzm & 45 sier gear g1 fR ag afyormeed Rz &
180 i1 a1 &1 3id A ag arrad f2m & 90 3izr goar &1 o1« A fore fam Fit ok g Fwdh
T ?

Ans  of 1 gd
X 2. FRufm
/X< 3. cf@oruiEm
75 4. zfRogd

Question ID : 2390877871
Status : Answered
Chosen Option: 1

Q.36 39 fAwheq =1 79 o, fATRT Gea ue & 91y agl Teiy g, it f3dta ug st aum ug @ 81
gfor : s SR e :: et : ?
Ans  off 1 e Ren
75 2. smm

X 3.
75 4.3wR

Question ID : 2390877856
Status : Answered
Chosen Option: 1

Q.37 U efh & awdR Fi 377 3R IR §T, 8 A T, ‘a8 A AT HY A & e anr forem @1 aw=iR
# Hisg SieH! gHd 6l g & a1 fhe wu A TeEfda g2

Ans X1_:|-|:n
W 2@

25 3. 3ra/mT /s

/X 4. R

[ Question ID : 2390877873 ]
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Status : Answered

Chosen Option : 2

Q.38 39 faerea o1 T+ o, et et T & a1y ag) dey g, St gus) T @ ugedt @ &
QA gl

4:32::11:?
Ans X" 1 244

X 2.240
/X 3.246
o 4242

Question ID : 2390877882

Status : Answered

Chosen Option : 4

Q.39 fF v wEw (Yeo) & AAEH T B AN IH FEA F AqS B, A FEH T e (2) F
T WX AT TR A

18 16 72
20 12 60

14 32
Ans  X1.110
xX2116
v 112
X 4114

Question ID : 2390877884

Status : Answered

Chosen Option : 3

Q.40 fA=faf@d reg] ohl 39 UhR @ shag &, 19 3 AT regenian & shag udia gla 81

1. Technical
2. Tectonic
3. Technique
4. Terminal
5. Technician

Ans X" 1.1,53,4,2
/X 251,324
315324
X 41,3524

Question ID : 2390877855

Status : Answered

Chosen Option : 3

Q.41 Qe fAfgya gewmar &, SOUR @t 8942 & wu # forar siren @ 3k REGAL &t 25671 & w4 # forar
STTar g1 I ewrsr § GASEOUS ot fore wu & forar simgmm?

Ans X 16795949

75 2.6784938

/X 3.5786918



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

1_" 4.6785948

Question ID : 2390877867
Status : Answered
Chosen Option : 4

Q.42 1 Y adA Y, GR1id HY adA g | 9 af $1fdeh g1 3 af ag, arid 6 oy, gfotEr A
g & sreft ghiftl Garia i adar oy ok gfotar fir adw ey ot v 24 g @1 31 Fi adE=
oy forait &2

Ans " 1 9o
5 2179
o 3.16°d
K a7

Question ID : 2390877887
Status : Not Answered
Chosen Option : --

Q43 33 R =1 TE =Y, O & 78 gl X Ao ) (qoim # wEta 7 Y

Figure X
Ans
7~ 3. !

Question ID : 2390877890
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Status : Answered
Chosen Option : 2

Q44 3z zem & & o sl & FE o¥or 5T F 9T F, F9 90T A MN T @ T @

V=]

M N

=

Ans

- |3

e

Q.45 3115 s Uah gATRR A9 & 9Ri 31 Ueh gk 9 G99 §ff R &3 &1 Ui, f SfiR srhern &
i a1 &1 srRarn, FeRfa & ard o iR TuH R @1 A, AR sikaqr d fa d da1 g, st
R & faeiget avret & o oik da1 21 S, Fuf el g F i d 3 &1 TR F S
A HH F51/81 82

Ans X 1 nf
X 2.3
W 3. et
5 4 vt

Question ID : 2390877893
Status : Answered
Chosen Option : 1

Question ID : 2390877876
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Status : Not Answered
Chosen Option : --

Q.46 3I9 T faerea o1 Ta= R, St FRe=ifeifRa 2real & e ofir srefyuf shwr & safeda =u ot
garfar gt

1.7F
2. H&dh
3. 91
4.9¢
5.«

Ans X" 1.2,3,4,1,5

75 2.321,54

Question ID : 2390877853
Status : Answered
Chosen Option : 3

Q.47 39 -G T TG Y, forad g g g ereat & = adh Feiv &, sit Ry g 2reg-gm & g
o1l & f gl

forafeee: died vare=
Ans X1 9 uden
W 2. 89 R
X 3.3 A
/X 4. weiferer : Rsgferea

Question ID : 2390877859
Status : Answered
Chosen Option : 2

Q.48 IY T=HT &1 94 &1, St FAmfaf@d Soft & usearaes Rg (?) & @ wR om Gadt gl
72,73,77, 86,7, 127
Ans X" 199
W 2102
/X 3.103
X 4.100

Question ID : 2390877878
Status : Answered
Chosen Option : 2

Q.49 A+Bawraifg-'A BHiare
A-BHT3f@-'A BRI UEE
AxBararfg-'A Barufag
A+Barfg-'A Berrfaarg’
R Q+S+TxV+W-Rg, dl ThIR & Iy e g sud 22

Ans X" arer

o 2. far
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/X 3.
X 4.9

Question ID : 2390877874
Status : Answered
Chosen Option : 2

Q.50 T orua shraferg @ T R Hedl @ 3R 150 m IR &Y 3R Tt &1 iR ag ard ik gt &
3R 70 m Fetelt &1 39 a1e g I1E SR gt @ 3R 20 m Tl &1 98 g 718 SR gl & ok
70 m Tl g1 3ie H ag a1 ik gaeft @ 3R 10 m Tt 81 319 ag U= shraferg 9 fhaft R iR
forg fRamd &2

Ans X" 1,170 ez, zfaror
75 2,140 #ie, zféror
o 3160 =, 3w
ZX 4,150 Hier, 3R

Question ID : 2390877872
Status : Answered
Chosen Option : 3

Section : General Awareness
Q.1 gHR UR dsd & Urpfas Iuugl & de &, F=faf@a 7 @ &4 a1 sy o 78 &2
Ans X" 1. S[ch ol RS HThfaieh IS TE &1

W 2. ¥ el & e Suwe 81 8

/X 3. % v Suvel 0 gy HETR €1 &1

#< 4. gu o1 B sirepfares S T 21

Question ID : 2390877808
Status : Answered
Chosen Option : 2

Q.2 fA=fafaa d @ oar Rafa= B12 & aqg sia g g2
Ans X 1 v
o 2 o Fr

/X 3.4fg
X 4w

Question ID : 2390877816
Status : Answered
Chosen Option : 4

Q.3 faer™@= D3 w1 TErEfAeE AT =T 87
Ans X 1. aifehfeRighret

/< 2. SRt

W 3. FRERER

/X 4 wigerfesia

Question ID : 2390877825
Status : Marked For Review
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l Chosen Option : 3 J

Q.4 Galenais an ore of:
Ans X" 1. silver

x 2. copper
X 3. zinc
J 4. lead

Question ID : 2390877814
Status : Answered
Chosen Option : 4

Q.5 F=afaf@a 3 oif3en @ &= T w6fleR s wTu @ @im«ar ame ga s @ SE@fddq §;
9 s/ & oy Wimiferes Tehd (GI) @1 U Sfiaa & off sifgem fi agraar 1 &1

Ans X" 1. Fiomdh @ g R
o 2. o8 S HRR
75 3. @ ol aeeaR HRR
/X 4. qaAaR o fohRreT wfeR

Question ID : 2390877801
Status : Answered
Chosen Option : 2

Q.6 39 & fore uaref o1 v AfNER uRATY) uigat (Ruae) # fiaee & wu & =i fran s &2
Ans (1.:}@5@3

X 2. &= gifean

#< 3. Fr-srdsitEe

/X 4.l S

Question ID : 2390877823
Status : Answered
Chosen Option : 2

Q.7 gy o fREfor urht A veifaa gaa gt grr v &
Ans  of 1 srEsitor

/X 2. suad

75 3. v

X 4w

& HRUT T¢I gl 81

Question ID : 2390877811
Status : Answered
Chosen Option : 1

Q.8 UFd W &1 QT pH W ______ gian gl
Ans x 1.5.7

274

X 364

K 447
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Question ID : 2390877815
Status : Answered
Chosen Option : 2

T Ie1E &7
X 1. 3z waR & A afa &
X 2.yl & Pt R
£ 3. e wh ahrfera & e gl &
of 4. i e wereRar wdteres &

Ans

Q.9 WRd & Hidur HY @t g & W £ (E) A Fmfof@a d | fow st & da=1/afkerf<oat

Question ID : 2390877842
Status : Answered
Chosen Option : 4

Ans

25 1. Trerifaes =
X 2. T =
W 3. il
75 4. e =ma

Q.10 YR Tfaen &Y yare=T d fiF UhR & U F1 Ieot@ 21 379 @ i a1 399 fae 78 &2

Question ID : 2390877840
Status : Answered
Chosen Option : 3

Q.11 Efid sheat Srarf qREhR 2019 fheert wer= fkar mar ar?
o 1. < AR

X 2. Froefh e
75 3. ARRUE B &l
/X 4. TSTHAR TR Y

Ans

Question ID : 2390877838
Status : Answered
Chosen Option: 2

Q.12 ¥4 Ut dF d, 398 § i< 91 Ueisd Wi &t mifedist ofk dweiq § uRkafda oear 82
Ans  of 1 dfEm

75 2. gargeN

/X 3. me

/X 4. wmgae

Question ID : 2390877824
Status : Answered
Chosen Option : 1

Q.13 frafafla & @ fara daht 3 @i Fes Oes faggq aguatht ae= (Ta.g. dt.) wga & 8?
Ans x 1. \fgar
X 2. g
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Question ID : 2390877799
Status : Not Answered
Chosen Option : --

Q.14 1952 # wRa # F=faf@a 7 @ o a1 wrum ug) R =i forar mam ar?
Ans X' 1 dgar

< 2. R Rie

o 3.

P

Question ID : 2390877812
Status : Answered
Chosen Option : 3

Q.15 WA & Agufd & &9 & 74 & R Frde @e@ sier ur?
Ans X 1. sff e gt 3

75 2. <F. wwd areht argHg

25 3. 7 S Rig

o 4 & TRRgdT

Question ID : 2390877843
Status : Answered
Chosen Option : 1

Q.16 fa%eh1 ug fohdenT Uas Siefta fAera= 87
Ans qu@ﬁmmaﬂ

75 2. wifefeh st 1

/X 3. AR st a1

75 4. Afde st e

Question ID : 2390877810
Status : Answered
Chosen Option : 1

Q.17 =fifa amahT grR1 2019 # SR} ‘W= w4, wfasfie YRa' e Rutlé & srqar_____ &t
Fgafia v # ggd TUTH U= @ T 8l

Ans (11—;@11—6
X 2. @
75 3. Rt

X 4. ggad

Question ID : 2390877807
Status : Answered
Chosen Option: 1

Q.18 WTYTE JTYR WR ISl h GAifa+T I 7T o 31eaa=T et & fAg, 1948 & WRAT It Fidd R
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Qe IR <hT 715 o war un1 39 9fAfa & sremer ala 47
Ans X 1 gER v
X 2.9 gd. Fw
/X 3. efardan
(4@%%

Question ID : 2390877844
Status : Answered
Chosen Option : 4

Q.19 I I T d¢ HTEaR Hi Yag 5 791 SaR & y9IAd ghar @, at agf amr=ua: fra aua soren
AR ATET?

Ans X 1 wreraR g 11.13 St
/X 2. et A 7.00 a9t
o 3. sTerER e 5.25 wt

/X 4. guarR a5 a9t

Question ID : 2390877829
Status : Not Answered
Chosen Option : --

Q.20 fFr=fafEa & @ @i ar e wRedt d@ferar & Hifees wder & wu d gHdflag 7@ 82
Ans X 1. Ak e Rrefid et

/X 2. ardife dufy & gram A

o 3. arara st @ arer @

75X 4. urepfdies gataror & &1 e I8 GUR AT

Question ID : 2390877841
Status : Answered
Chosen Option : 3

Q.21 AFEsRRAfRE@a__ & &t & g A7-uars (SRiwdfeaan) g awar g1
Ans X" 1D

X 2.c

< 3B

o 4A

Question ID : 2390877821
Status : Answered
Chosen Option : 4

Q.22 31U AHhTS h YEITE TSI h SR, SRR T AMH IRAT H ITch AR A ZRT
AT STTCT ATI



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Question ID : 2390877835
Status : Answered
Chosen Option: 1

Q.23 ufafdd niee dienier sy fora &5 A gie & forg uem Rl wird €2
Ans Jlﬁﬂfﬁ?{(qﬁuﬁqwuﬂdqﬁwﬁﬂ%ml

#< 2. gaferor & i eielt e & forg)

/X 3. 91t sheaToT g Afger gerfhenor & g

25 4. e wd Aif Fmfor & ferg)

Question ID : 2390877839
Status : Answered
Chosen Option : 1

Q.24 3nf¥fer Ed&r01 2018 & SITHR, UG Folf hl TXATUT AT H AFA A URA _____ UM W |

Ans X1 59
K2R
X 3.6
of 449

Question ID : 2390877806
Status : Not Answered
Chosen Option : --

Q.25 f=fafEa d & e @ @R-yaar Sad: TR 9T a1 'S 919’ F 9 9 S S 8?
Ans  of 1 wiifEm

75 2. dem

X 3. siam

X 4. e

Question ID : 2390877809
Status : Answered
Chosen Option : 1

Q.26 3 Tom gM-gl-dl & g fohan wn, Sit = 3 g wrerder & e 9 of 3 varw | o9
& ATl

Ans X1 it
W 2 5
X 3. figar
7K 4. e =

Question ID : 2390877833
Status : Not Answered
Chosen Option : --

Q.27 ST dhyatar A ____ &Y ugeht wfgen wgufa & wu 7 eray oft ot
Ans " ATd

o 2. e
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/X 3.Em

/X 4.3 RISy

Question ID : 2390877804
Status : Answered
Chosen Option : 2

Q.28 @ M urfle Wi A _____ ATl & 1Y YR &1 GO 98T 97 19 &1
Ans X" 1 geur

W 2 i o

7K 3. Fiffe e

X 4=

Question ID : 2390877800
Status : Answered
Chosen Option : 2

Q.29 R & gl ok Ik @l & weed &, Prrforf@a § @ = a1 e wd & @ gfta =8 22
Ans X 1. SiferfERA - g & ER gry-aTd ohee &1

< 2. oo - et Frf & o aar 21

/X 3. SRR - e  TETTdT R 2

o 4. R - aften-de waER @ frfa awar 1

Question ID : 2390877817
Status : Answered
Chosen Option : 2

Q.30 ¥R} ST & aR d Fr=faf@a d @ o a1 sy 9 T8 82
Ans X 1. 58 SRRan sifaaTge i el o 8
o 2. 75 IR & Rorg gofer gRfaa 21
7 3. e v i & HemRe & & § T S Tehal 8
75X 4. g yoh Wedtedf verdf 7 81

Question ID : 2390877819
Status : Answered
Chosen Option : 2

Q.31 frg & &) e & ‘G gt 3R Fiverer & SgAT & A1 @ S STret g2
Ans X1 fly e

75 2 A R

75 3. e &t

o 4 sErE

Question ID : 2390877828
Status : Answered
Chosen Option : 4

Q.32 I-grarsht T AT gl

Ans
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X g

o 2. Frs i
X 3.:@
75 4 urht

Question ID : 2390877826
Status : Answered
Chosen Option: 2

Q.33 R4 & SHiferdy sfag & Hed d, 399 @ fra adf &l 'sar it Ue fRarss' wgr sar 82
Ans X" 11911 @l

o 219217

/< 3.1947

X 41931

Question ID : 2390877805
Status : Not Answered
Chosen Option : --

Q.34 qeeft o1 3ftwa ued SRTRT ____ gm/em? @1
Ans X" 1.7.71

W 2551

75 3.7.91

X 4331

Question ID : 2390877832
Status : Answered
Chosen Option : 2

Q.35 e WX MP4 Whisel Weffa &eA & forg 594 9 fore afwedar o1 ui forar s &2
Ans  of 1 RicH sfifdar wR

75 2. MS-Word (7a 74 o)
/X 3. vela gae
75 4. Ms-Office (Ta 7 3ifftha)

Question ID : 2390877797
Status : Answered
Chosen Option: 1

Q.36 fA=faf@d & @ o i @ Uar T WRdA Suirg ememiRd Tt yorredt 82
Ans X1 e

75 2.1sc
o 3. Navic
75 4. Heifa
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Question ID : 2390877818
Status : Answered
Chosen Option: 3
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Q.37 3=h # Haifeh UgR ATAT | UTE S arefl Shforehtd &1
Ans  of 1 cfsirseE

/X 2. AT

X 3. geirarseE

X 4 Rrmarge

Question ID : 2390877822
Status : Answered
Chosen Option : 1

Q.38 AR STIRe w1 A FRofa forar fas ____ sifoss qurer ameres ghn ofik Iaeh g & a1g 39 &his
o} darer wremeit & wu | " E g

Ans X" 1. STgieRr M8
X 2 sherd
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Question ID : 2390877836
Status : Answered
Chosen Option : 4

Q.39 #gsat A srnert Ufdal @ wnfaa g are ag e a1 o @ Sl WIS & urae A |Sgraer SRl
&?

Ans X 1. TrEfRen s
75 2. gemRen ot
o 3. s o
X 4. 9 et

Question ID : 2390877813
Status : Answered
Chosen Option : 3

Q.40 2020 & etert 3Hifeifies e gde Fi o1 uge fastar - §iftew o, g H|
Ans X 1. femeTe

75 2.
o 3 diew
/X 4. gaars

Question ID : 2390877846
Status : Answered
Chosen Option: 3

Q.41 Fsiifemrse T & fraer sraws &7
Ans X1 wig e

/X 2.5 (RieR) o
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o 4 v
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Question ID : 2390877830
Status : Answered
Chosen Option : 4

Q.42 afe foreht wrger A | f3wice ueaa (Tfther) .xls &, at wiger &Y arnft oar ghfi?
Ans X 1. ge o€ Slagie

X 2. v difea fRma

o 3. tE St

/X 4w siffeat faera

Question ID : 2390877798
Status : Answered
Chosen Option : 3

Q.43 Pernicious anaemia is a disease caused due to the deficiency of:
Ans " 1. Vitamin C

o 2. vitamin B12
x 3. Vitamin D

75 4. Vitamin B1

Question ID : 2390877820
Status : Answered
Chosen Option : 4

Q.44 fF=fafe sfeal d @ = urfa g @ dag 78 22
Ans X 1 R, sterRaR

W 2§ <z Rememr

75 3. areARm utgd

X 4 wmsh R

Question ID : 2390877837
Status : Answered
Chosen Option: 2

Q.45 fa=fafa@a s el & @ foradh saurar gaffoes gid 82
Ans X' 1 qe AR (e )

JZ@EFEFFT(@EFEFIT{)

7% 3. gea = gt (e Giee o)

/X 4. 93 9R (s )

Question ID : 2390877827
Status : Answered
Chosen Option : 2

Q.46 fa=ifaf@a & & @ ate o1 o< 81 87
Ans X 1. ¥erse

/X 2. dRAmEe

X 3. @



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 ooale Play

o 2 e

Question ID : 2390877831
Status : Answered
Chosen Option : 4

Q.47 In the context of transport facility, India’s first indigenous fare collection system has been
named as:

Ans X" 1 KIRAYA.
o 2. SWEEKAR.
75 3.BHADA.

75 4. SWAGAT.

Question ID : 2390877802
Status : Not Answered
Chosen Option : --

Q.48 WRadt 2019 &, Am=faf@a & @ farg 221 3 3= <rarerat & uahT & & fag € &t ero=it s
3nferTRer vTeT & *u & gfdfed forar @2

Ans  off 1. v ora onik (4.0.8) 3
X 2 w3
/X 3. soRGe
X 4 REA

Question ID : 2390877803
Status : Answered
Chosen Option : 1

Q.49 siifsifder, 2020 & ¥R (mascot) Y T gl STTET 82
Ans X" 1 ggia

p X i

W 3. e

#< 4. S

Question ID : 2390877845
Status : Answered
Chosen Option : 3

Q.50 f=faf@a & 9 fFa e 3 ardsRe Tuel wR s Iremang Turfie seard?
Ans X1 g - 113

25 2. e A

X 3.

J4‘ CRICE

Question ID : 2390877834
Status : Not Answered
Chosen Option : --

Section : Part A General Engineering Civil and Structural
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Q@1 Which shaped lines indicate the presence of a ridge?
Ans o 1. U-shaped

/< 2. Z-shaped

/< 3. L-shaped

/< 4. S-shaped

GET IT ON
Google Play

Question ID : 2390877727
Status : Answered
Chosen Option : 1

Q2 Wind load analysis can be done by using:

Ans 5 1 1S 875 - part 2
W 2 IS 875 - part 3
X 3 IS 875 - part 5
X 4. IS 875 - part 1

Question ID : 2390877795
Status : Answered
Chosen Option : 2

@3 The slope of a bending moment diagram gives

Ans X 1. compressive force

< 2 tensile force
/< 3. couple
« 4 shear force

Question ID : 2390877777
Status : Marked For Review
Chosen Option : 4

Q4 The spacing of stirrups in a beam:
Ans X 1. is the same everywhere

/< 2. depends on the size of the beam
/< 3. increases near the support

« 4 decreases near the support

Question ID : 2390877790
Status : Answered
Chosen Option: 3

@5  Common glass is also known as:

Ans X 1. borosilicate glass
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/< 2. potash lead glass

+ 3. bottle glass

/< 4. soda lime glass

Question ID : 2390877706
Status : Answered
Chosen Option : 4

Q6  The process by which timber is cut and sawn into sections is called:

Ans X 1. seasoning of timber

' 2. conversion of timber
7% 3. felling of timber

/< 4. preservation of timber

Question ID : 2390877707
Status : Answered
Chosen Option : 2

Q.7 A procedure of actual costing and valuing an item of work on the basis of labourers and materials required is:

Ans 1. lump sum amount
/< 2. prime cost
/< 3. provisional sum

« 4 day work

Question ID : 2390877715
Status : Not Answered
Chosen Option : --

Q8  If the fluid is ideal as per assumptions of Bernoullis theorem, it means that:
Ans  f 1. viscosity is zero
#< 2 flow is constant
< 3. velocity is zero

/< 4. pressure is constant

Question ID : 2390877741
Status : Answered
Chosen Option : 4

Q9 The actual movement of soil mass is known as:
Ans  f 1 slope failure
#< 2. surface failure
/< 3. collapse

/< 4. base failure
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Question ID : 2390877735
Status : Not Answered
Chosen Option : --

Q10 | cumec day =?

Ans 2 1. 86.4 hectare-metres
#< 2. 864 hectare-metres
' 3. 8.64 hectare-metres
#< 4 0.86 hectare-metres

Question ID : 2390877756
Status : Marked For Review
Chosen Option: 3

Q.11 A load value obtained by multiplying the characteristic load with load factor is known as:

Ans 1. Design spectrum

/< 2. Fatigue load
+ 2 Designed load
# 4 Dead load

Question ID : 2390877791
Status : Marked For Review
Chosen Option: 3

Q12 The dimensions for special shape of clay bricks are given in:
Ans  of 1 1S 6165-1971

< 2 IS 3461-1966

& 3 IS 1464-1969

< 4 IS 3951-1975

Question ID : 2390877699
Status : Not Answered
Chosen Option : --

Q.13 Which of the following methods is used to calculate area between irregular boundaries?

Ans 3 1. Double parallel distance

« 2. Simpson’s rule

#< 3. Departure and total latitude method

/< 4. Area by geometric method

Question ID : 2390877728
Status : Not Answered
Chosen Option : --

Q.14

Water absorption for class A type of roof tiles is:
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Ans X1 26% - 29%
K 2 14% - 19%
<3 4% - 9%
W 4 20% - 24%

Question ID : 2390877705
Status : Not Answered
Chosen Option : --

Q15 The calcined product in cement production is known as:

Ans 1. ash

v 2 clinker

# 3. gypsum

/< 4 silica

Question ID : 2390877702
Status : Answered
Chosen Option : 3

Q16 For under-water construction cement is used.
Ans

/< 1. ordinary portland
/< 2. expansive

' 3. quick setting

/< 4. portland pozzolona

Question ID : 2390877779
Status : Answered
Chosen Option : 3

Q17 If B = 100 days and D = 1400 hectares/cumec, then find delta.

Ans X1 5571 cm
v 2 61.71 cm
K3 5171 cm
X 4 65.71 cm

Question ID : 2390877749
Status : Not Answered
Chosen Option : --

Q.18 The longitudinal coefficient of friction on highway for calculation of stopping distance in geometrical design is:
Ans X1 0.25t0 0.29

v 2 0.35t00.4

X305

X 4 0310034
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Question ID : 2390877757
Status : Answered
Chosen Option: 2

Q19 1p practice, flow velocity adopted for the design of a grit chamber is:

Ans X 1. | to 2 m/sec
/< 2 3to 5 m/sec
'3 0.25to 0.3 m/sec

/< 4 0.5 to 2 m/sec

Question ID : 2390877767
Status : Answered
Chosen Option : 3

Q20 For stopping sight distance the eve level should be at:
Ans o1 12m

<2 16m

<3 0.75m

<4 18m

Question ID : 2390877760
Status : Answered
Chosen Option : 1

Q21 The coefficient of discharge for venturimeter (Cd) ranges from

Ans X1 0.61 - 0.65
v 2 0.95-0.99
< 3 0.61-0.69
& 4.0.50 - 0.55

Question ID : 2390877743
Status : Answered
Chosen Option: 2

Q.22 The process of maintaining the moisture and temperature conditions of concrete so that concrete develops hardened
properties over time is called

Ans X 1. hardening
/< 2. setting
' 3. curing
/< 4. softening

Question ID : 2390877780
Status : Answered
Chosen Option : 3

Q23 1 A-30 grade bitumen, A stands for

Ans
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#< 1. Arunachal Pradesh
< 2. Ahmedabad

#< 3. Andhra Pradesh
' 4 Assam

Question ID : 2390877762
Status : Not Answered
Chosen Option : --

Q24 The diameter of the sieve used for finding liquid limit is

Ans X 1. 125 microns
v 2. 425 microns
#< 3. 250 microns
#< 4 375 microns

Question ID : 2390877734
Status : Not Answered
Chosen Option : --

Q25 The minimum furrow grade to assure surface drainage is:

Ans X1 0.07%
v 2 0.05%
< 3. 0.09%
< 4 0.02%

Question ID : 2390877750
Status : Not Answered
Chosen Option : --

Q.26 The Indore method of composting takes  months to complete the process.
Ans 1. one and a half

< 2 two

< 3. three

v 4 four

Question ID : 2390877770
Status : Not Answered
Chosen Option : --

Q.27 Street inlets for draining rain water are located along the road side on straight roads at an interval of :

Ans X1 10to 20 m
X2 5t010m
v 3 30t0 60 m
<4 20t030m

Question ID : 2390877771
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Status : Not Answered J

Chosen Option : --

Q.28 The raising of outer edge of pavement with respect to inner edge is known as
Ans o 1. Super elevation
/< 2. Rolling resistance
< 3 kerb

/< 4. Frictional resistance

Question ID : 2390877763
Status : Answered
Chosen Option: 1

Q29 The unit of measurement is square metres in case of:

Ans X 1. hollow concrete block wall

/< 2. cement concrete in foundation
/< 3. R.C.C. structure
« 4 pointing work

Question ID : 2390877709
Status : Answered
Chosen Option : 4

Q.30 Estimate the quantity of plastering (two faces) for 4 m long, 3 m high and 30 c¢m thick wall.
Ans 1. 2.4 sqm

W 2. 24 sqm

< 3. 36 cum

< 4. 72 cum

Question ID : 2390877712
Status : Answered
Chosen Option : 2

Q.31 soil cannot achieve the plastic state of consistency.

Ans 1. Fine grained
/< 2. Clay
« 3. Coarse grained
X 4 silt

Question ID : 2390877737
Status : Answered
Chosen Option: 3

Q32 Ap error due to the earth’s curvature and refraction is to be corrected using:

Ans
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X 1. C.=0.0136D°

X 2 C.=0.0785D’
X 3. C.=0.0112D?

v 4 C.=0.0673D?

Question ID : 2390877725
Status : Answered
Chosen Option : 3

Q.33 The ratio of stress induced due to sudden applied axial load to stress induced due to gradually applied axial load on a bar
is

Ans X1
v &)
X315
X4 3

[

S

[

Question ID : 2390877774
Status : Not Answered
Chosen Option : --

Q34 Aerated concrete is in weight,

Ans O 1. medium

W 2 light
/< 3. heavy
/< 4 very heavy

Question ID : 2390877782
Status : Answered
Chosen Option : 2

@35 WWhich vibrator is used for vibrating concrete cubes?

Ans 3 1. Internal vibrator
< 2. Surface vibrator
#< 3. Platform vibrator
' 4 Table vibrator

Question ID : 2390877784
Status : Answered
Chosen Option : 1

Q36 A fall is constructed to:

Ans 3 1. maintain surplus energy

/< 2. overcome surplus energy
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« 3. destroy the surplus energy

/< 4. create surplus energy
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Question ID : 2390877753
Status : Not Answered
Chosen Option : --

Q37 Standard deviation is proportional to:
Ans X 1. minimum strength

/< 2. maximum strength

/< 3. design strength

+ 4 mean strength

Question ID : 2390877781
Status : Answered
Chosen Option : 4

Ans  X1.22.22 cum
' 2 44.11 cum
/< 3. 38.80 cum
& 4 42.90 cum

Q.38 The estimated earthwork by the center line method for total center length = 40.10 m, breadth = 1.10 m and depth=1m

Question ID : 2390877711
Status : Answered
Chosen Option : 2

Ais o 1 1t01.5%
X2 2t05%
K3 1.5t02%
& 4 10to 15%

Q.39 For big work or projects. the percentage estimated cost provided in the estimare for the purchase of tools and plants is:

Question ID : 2390877714
Status : Answered
Chosen Option: 3

Q40 Aerobic attached growth process is classified under:

Ans X 1. chemical clarification

/< 2. activated sludge process
/< 3. preliminary treatment

« 4 biological treatment

Question ID : 2390877769
Status : Not Answered
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l Chosen Option : -- J

Q@41 The lacings are subjected to resist a transverse shear of
Ans X 1. 2.8% of axial force in the member

/< 2. 2,259 of axial force in the member

W 3. 2.59% of axial force in the member

75 4. 2.759% of axial force in the member

Question ID : 2390877792
Status : Not Answered
Chosen Option : --

Q42 Good brick earth should contain of Alumina.

Ans X1 99 - 10%
X 2. 35% - 40%
W 3. 20% - 30%
< 4 15%

Question ID : 2390877698
Status : Answered
Chosen Option : 3

Q43 1 masonry NO deduction is made for:

Ans 3 1. opening each upto 1800 sq.cm
/< 2. opening each upto 10000 sq.cm
7< 3. opening each upto 1500 sq.cm
« 4 opening each upto 1000 sq.cm

Question ID : 2390877710
Status : Answered
Chosen Option : 4

Q44 Gunter’schainis  mlong.
Ans X1, 23.12

v 2 20.12

X3 2212

X4 2112

Question ID : 2390877722
Status : Answered
Chosen Option : 2

Q.45 For a circular column with diameter *d’ subjected to a compressive load “W~ at an eccentricity ‘e’, the diameter of core
of section is:

Ans x 1. d/2
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J 2. d."f‘cl'
X4 dis

Question ID : 2390877776
Status : Not Answered
Chosen Option : --

Q.46 The minimum edge distance and end distance from the centre of any hole to the nearest edge of plate for sheared or
hand flame cut edges is -

Ans  of 1. 1.7 times the whole diameter
/< 2. 1.5 times the whole diameter
/< 3. 1.8 times the whole diameter

< 4. 1.9 times the whole diameter

Question ID : 2390877793
Status : Answered
Chosen Option : 2

Q47 The binding material in the mortar is also called:
Ans 1. admixture

#< 2 adulterant

/< 3. paste

' 4 matrix

Question ID : 2390877701
Status : Answered
Chosen Option : 2

Q48 Development length is inversely proportional to:

Ans

o 1. design bond stress

/< 2 stress in bar
#< 3. shear stress
/< 4. bending stress

Question ID : 2390877789
Status : Answered
Chosen Option : 1

Q49 A lateral shift in the transition curve is given by:

Ans XK1 134R2
v 2 1204R
K3 1204R

K 4 12040R



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 ooale Play

Question ID : 2390877726
Status : Answered
Chosen Option : 2

Q50 ghear stress is stress.
Ans 1. bending
/< 2. proof

+ 3 tangential

< 4 normal

Question ID : 2390877773
Status : Answered
Chosen Option: 3

Q.51 For inspection of welded joint. the method in which iron fillings are spread over the weld and it is then subjected to an
electric current is known as:

Ans 1. Radiography method
#< 2. Ultrasonic method
/< 3. Dye penetration method

« 4 Magnetic particle method

Question ID : 2390877796
Status : Not Answered
Chosen Option : --

Q52 The least count of a prismatic compass is:

Ans X 1. 45 seconds
v 2. 30 seconds
#< 3. 15 seconds
#< 4 60 seconds

Question ID : 2390877724
Status : Answered
Chosen Option : 2

@53 (Cross slope given to the pavement for safe drainage of water is:

Ans o 1. camber
#< 2. shoulder
< 3 kerb
/< 4 cant

Question ID : 2390877758
Status : Answered
Chosen Option: 1

Q.54
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The longitudinal movement of a rail is known as:

Ans X 1. wear of rail

« 2. creep of rail
#< 3. crushed rail
/< 4 hogging rail

Question ID : 2390877761
Status : Answered
Chosen Option : 2

Q.55 A cantilever beam of span ‘I’ subjected to concentrated load *W~ at a distance *a’ from fixed end. the deflection under

the point load is

Ans X1 WEAEL

X 2 (l-a) Wa? /3EI + Wa’/3EI
X 3. Wil-a)’/3EI

v 4 Wa33EI

Question ID : 2390877778
Status : Answered
Chosen Option : 3

Q56 A|] the specifications for highway planning and design are given by:

Ans o 1. IRC
< 2 HRB
X 3. MVA
& 4 CRRI

Question ID : 2390877759
Status : Answered
Chosen Option : 1

Q.57 Basic value of span to effective depth ratio for span up to 10m for cantilever is
Ans  of 17

X212

X35

X 420

Question ID : 2390877788
Status : Answered
Chosen Option : 1

Q58 Physical depreciation is due to:
Ans X 1. inadequacy

« 2 wear and tear from operation
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/< 3. suppression

/< 4. obsolescence

Question ID : 2390877720
Status : Answered
Chosen Option : 2

Q.59 When bitumen is allowed to penetrate to full depth of stone layer it is called:
Ans o 1. full grout

#< 2. full chipping

/< 3. semi grout

/< 4. half grout

Question ID : 2390877718
Status : Not Answered
Chosen Option : --

Q.60 The length of a transition curve depends on the rate of change of
Ans X 1. speed

& 2 distance
« 3 centrifugal acceleration

/< 4. tangential acceleration

Question ID : 2390877730
Status : Answered
Chosen Option : 3

Q61 The total length of bar having hook at both the ends is:
Ans X1 1424D

< 2 L+9D

X 3 L+12D

v 4 L+18D

Question ID : 2390877716
Status : Not Answered
Chosen Option : --

Q.62 Extra widening of pavements provided because of off-tracking is known as:
Ans X 1. frictional widening
7< 2. physical widening
+ 3 mechanical widening

< 4. psychological widening

Question ID : 2390877764
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Status : Answered J

Chosen Option: 3

Q63 The ratio of plasticity index and flow index is known as:
Ans o 1. Toughness index

7< 2. Shrinkage index
/< 3. Consistency index
& 4. Liquidity index

Question ID : 2390877738
Status : Answered
Chosen Option : 4

Q64 The process of taking out stones from natural rock is known as:

Ans

v 1. quarrying
/< 2. cladding
/< 3. dressing
/< 4 weathering

Question ID : 2390877697
Status : Answered
Chosen Option: 1

Q.65 For most economical section using Chezy’s formula, depth of flow for maximum discharge through circular channel of
diameter D is:

Ans X1, 0.5D
X 2D
V' 3 0.95D
< 4 03D

Question ID : 2390877747
Status : Answered
Chosen Option: 1

Q66 Ap overflow dam is also known as a

Ans X 1. gravity dam
W 2. spillway
& 3. reservoir
#< 4 rockfill dam

Question ID : 2390877752
Status : Answered
Chosen Option : 2

Q.67 The most accurate method used in a laboratory for the determination of water content is:
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Ans 1. calcium carbide method

#< 2. Radiation method
« 3. oven drying method

/< 4. sand bath method

Question ID : 2390877736
Status : Answered
Chosen Option: 3

Q68 The designed bond stress of M20 grade concrete is:

Ans XK1 1LON/mm?

v 2. | 2N/mm?
< 3. 1 .8N/mm?
&< 4 | 6N/mm?>

Question ID : 2390877785

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q69 Free settling of particles in the sedimentation process is also called:
Ans 5 1. zone settling

/< 2. hindered seftling
« 3. discrete settling

/< 4. compression settling

Question ID : 2390877772
Status : Answered
Chosen Option: 3

Q70 The effective span of a simply supported beam is
Ans X 1. the clear distance between supports

#< 2. half of the clear distance plus width of column
/< 3. 0.7 times clear distance between supports

« 4 centre to centre distance between supports

Question ID : 2390877786
Status : Answered
Chosen Option : 4

Q.71 A fluid which has shear stress is proportional to the rate of shear strain is called:

Ans X 1. ideal plastic fluid

/< 2. non Newtonian fluid
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< 3. ideal fluid
v 4 real fluid

Question ID : 2390877746
Status : Answered
Chosen Option : 4

Q72 Discharge through the main is by connecting pipes in parallel.
Ans o 1. increased
#< 2. decreased

/< 3. same

/< 4. regulated

Question ID : 2390877745
Status : Answered
Chosen Option: 3

Q73 The disposal of screen is done by:

Ans 1. flocculation
< 2 filtration
« 3. incineration

/< 4 sedimentation

Question ID : 2390877766
Status : Answered
Chosen Option : 2

Q74 1n a geodetic survey the surface of the earth is considered:

Ans X 1. vertical
X 2 Inclined
#< 3. horizontal
W 4 Ccurved

Question ID : 2390877721
Status : Answered
Chosen Option : 4

Q75 30 m #r 37 F BT FHaT F P (degree of curve) BT I
Ans - X1.1145.92 x R

< 2 1145.92/R

V'3 1718.9/R

< 417189 x R

Question ID : 2390877729
Status : Answered
Chosen Option : 2
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Q76 Which of the following is an assumption for Bernoulli’s equation?

Ans 1. Flow is unsteady
+ 2 Flow is incompressible
< 3. Flow is rotational

< 4 Fluid is ideal plastic

Question ID : 2390877742
Status : Answered
Chosen Option : 2

Q77 sarda type fall was designed to:
Ans X 1. maximise the depth of cutting
+ 2. minimise the depth of cutting
/< 3. have no relation with depth of cutting

< 4 maintain the depth of cutting

Question ID : 2390877754
Status : Not Answered
Chosen Option : --

Q78 wWhich of the following dams is classified based on structural design?

Ans 1. Diversion dam

/< 2. Detention dam

/< 3. Storage dam

« 4 Gravity dam

Question ID : 2390877755
Status : Answered
Chosen Option : 4

Q.79

Which type of particle has the least self-cleaning velocity?

Ans 1. Fine sand and clay

#< 2. Course sand
« 3. Fine clay and silt

#< 4. Fine gravel

Question ID : 2390877768
Status : Answered
Chosen Option: 3

Q80 Temporary spurs are also called:

Ans 1. weirs



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaiy7 Eooale Play

< 2. canals

/< 3. barrages
v 4 bunds

Question ID : 2390877751
Status : Not Answered
Chosen Option : --

Q81 ‘Which IS code provides recommended guidelines for concrete mix design?

Ans 1. IS 800
< 2 IS 1373
< 3 IS 12813
v 4 1S 10262

Question ID : 2390877783
Status : Answered
Chosen Option : 4

Q.82 The scrap value of a building may be about _ percentage of the total cost of construction.
Ans X1 1%

X 2. 7%

X 3. 5%

v 4 10%

Question ID : 2390877717
Status : Answered
Chosen Option : 4

Q83 The colour of Stale and septic sewage is
Ans 1. Light brown

X 2. grey

« 3. black or dark brown

< 4 vellow

Question ID : 2390877765
Status : Not Answered
Chosen Option : --

Q84 Glacier deposited soil is called:

Ans X 1. loess
v 2 il
X 3 drift
&< 4 talus

Question ID : 2390877731
Status : Answered
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l Chosen Option : 4 J

Q85 Shear modulus of elasticity is the ratio of .

Ans ' 1. shearing stress and shearing strain

#< 2 tensile stress and strain

/< 3. compressive stress and strain

/< 4. bending stress and strain

Question ID : 2390877794
Status : Answered
Chosen Option : 1

Q86 Grade M?20 has a nominal mix of*

Ans o 1 1:15:3
K21:2:4
K 31:03:06
K< 41:05:10

Question ID : 2390877708
Status : Answered
Chosen Option : 1

Q.87 For a 30 degree cranked or bend up bar, the inclined length of the crank is equal to:
Ans x 1. d/2

X2d

X3 1.73d

V4 2d

Question ID : 2390877713
Status : Answered
Chosen Option : 3

Q88 The ST unit of kinematic viscosity is
AW mls

<2 mis

#< 3. unitless

X 4 mf32

Question ID : 2390877739
Status : Answered
Chosen Option : 1

Q.89 The Unified Soil Classification System was originally developed by

Ans 1. Terzaghi
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/< 2. Mohr
/< 3. Atterberg

« 4 Casagrande

GET IT ON
Google Play

Question ID : 2390877732
Status : Not Answered
Chosen Option : --

/< 3. wrought iron

/< 4. cast iron

Q90 (ast jron is manufactured by re-melting with coke and limestone.
Ans  of 1. pig iron
< 2 iron

Question ID : 2390877704
Status : Not Answered
Chosen Option : --

Ans  1.21,32,500
X 2 31,22,500
X3 31,34,500
v 4 21,12,500

Q.91 msfr waf Hr Fetdr F1F 9T 99 T 39000/- Fr 777 woT g ¥ o = AT 8% wF AT E, ar
gofea F Siga 77T 2l

Question ID : 2390877719
Status : Not Answered
Chosen Option : --

Q92 WWhich of the following is true?

Ans < 1. Precipitation =infiltration +runoff
« 2. Precipitation = evaporation ~ run off
/< 3. Runoff = Evaporation + precipitation

/< 4. Evaporation = precipitation + runoff

Question ID : 2390877748
Status : Answered
Chosen Option : 1

Ans

Q93 The minimum cover for an RCC column should be:

/< 1. greater of 25 mm or diameter
/< 2. greater of 50 mm or diameter

#< 3. greater of 30 mm or diameter
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o 4 greater of 40 mm or diameter

GET IT ON
Google Play

Question ID : 2390877787
Status : Answered
Chosen Option : 4

Ans

/< 1. non-suppressed weir

/< 2. balanced weir

' 2 suppressed weir

< 4. deformed weir

Q94 1f crest length is equal to the width of the channel then it is called:

Question ID : 2390877744
Status : Not Answered
Chosen Option : --

Ans

Q95 The chemical formula for lime is:

/< 1. CaCO4
X< 2. CayOy
< 3. CaO,
v 4 Ca0

Question ID : 2390877700
Status : Answered
Chosen Option : 4

Ans

Q96 What is the full form of PVCN with respect to paint?
« 1. Pigment Value Concentration Number

7< 2. Paint Value Concentration Number

/< 3. Paint Value Carbon Number

/< 4 Pigment Value Carbon Number

Question ID : 2390877703
Status : Answered
Chosen Option : 1

Ans

<110
< 2 100
v3o0
X4l

Q97 In gauge pressure, the atmospheric pressure on the scale is marked as:

Question ID : 2390877740
Status : Not Answered
Chosen Option : --



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Q98 Offsets are of two types,

Ans o 1. perpendicular and oblique

#< 2. horizontal and vertical
/< 3. straight and oblique

7< 4. horizontal and curved oblique

Question ID : 2390877723
Status : Answered
Chosen Option : 3

Q99 The submerged weight of soil solids per unit volume is
Ans < 1. dry unit weight

/< 2. wet unit weight

/< 3. saturated unit weight

« 4 buoyant unit weight

Question ID : 2390877733
Status : Answered
Chosen Option : 3

Q.100 The limiting depth of neutral axis for a beam having effective depth of 400mm with Fe250 grade steel is:
Ans  of 1. 212 mm
X 2. 425 mm
X 3 318 mm
X 4. 609 mm

Question ID : 2390877775
Status : Not Answered
Chosen Option : --
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